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A witness and a judge can be combined — PDUXR P TV

OVERVIEW

777 27 stated in the name of PXWw that the testimony of an 7¥ and a 17 can
be combined. This is understood to mean' that if the 1% challenges the o3
and claims that it was forged (together with the 2>7v73 ni°nm), then one of the
a2’ nn 7Y together with one of the 01pPn °1m7 can testify to verify their
respective signatures, and the “vw (with the ?917) is affirmed.
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It appears from this statement of Xww -nX °", that even by an
authenticated =vw, there is a concern; perhaps the signatures of the

judges were forged and the p5177 needs to be o pn. For, if there is no concern of 17
on the Po17; why is there any need for the 7v and the 17 to be 77v¥n? What are they
testifying; it is a 2™pn Vw?!
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And so it also seems in %2521 7150 in ¥ NOon and in 70 12 AP that
there is a concern of 71’1 on the o371 itself, and if the M7 challenges the P37 it needs to be
omMpn.

mMooIN anticipates a question:
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And that which we learnt in a X092 in the Xn59n of n°y’2w concerning

a ‘tied ?anap’t -
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"' claims that the 2°7¥ sign on the outside (back) of the ?1an1» and the
2°1%°7 sign on the inside; where the 912119 is written —

'See v "7 " (and the response of &27).

1",

? a0,

*uans.

> A 91amo is a document in which the b transfers his outstanding loans to 7"*2, enabling the % to
collect them after v nw; which otherwise he would be forbidden to collect.

® The awipna »1an79 is similar to a wpr (M) va. In a Wwpn b3, a few lines of the vx are written; the
written lines of the v) are folded over the following blank lines. This fold is sewn or tied together and the
o7y sign on the backside of the fold. This process is repeated several times until the entire v3 is written and
folded (like an accordion). In a qwpn7 71210 the 0177 sign on the blank lines under the written lines, it is
then folded over, and according to > the 0°7¥ sign on the back, to authenticate the signatures of the a°17;
the reverse of a usual 01, where the 0°17 authenticate the o>7v.
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The o°2211 said to 3''% that an act of 7''92 does not require 21p. A 7amo,
signed by 2°1°7, is an act of 7"2; therefore once the 0°17 sign on the inside there is no
need for the 0>7v to sign on the outside of the 91amw. It would follow that

since a P17 1S also a 7"2 nwyn it does not require any further o1p. This contradicts our
assumption that the 517 may be challenged and it requires the 2°1°>7 to be 2>pn the poIm.

mooIn responds; this rule that a 72 7wy» does not require 2P -
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applies only to a ®12amnp, since a person is believed to claim ‘I had a

9921170 and it was lost’.” Therefore the 1% cannot challenge the m%» and refuse to
pay the loan if a %1219 is not presented; for the m%» can always claim I wrote a 912119
and it was lost. It is only by this type of a 7"2 7w¥yn, in which the Mm% cannot challenge the
underlying 0w (the 712179), that we maintain 2vp 778 7"2 nwyn PR. However by a loan
where the M7 can claim that the underlying “0w is 7>, he can also claim that the P23 is
1.

mooIN anticipates an additional question and resolves it:
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And even according to the one who maintains that the m°>» is not
believed to claim 7281 °% 71977 712179 (it would seem therefore that the 77 can
challenge the m%n concerning the (lack of a) 7121179 and nevertheless there is
no requirement for 01p); nevertheless even this 7"» admits that if the m>»

does produce a (regular) 7M1 it does not require 21p; the m> cannot
challenge it and claim that it is 5. Therefore, since the m> cannot challenge the
2121779; the 017 on a WP» 71219 need no 01°p from 0>7v. However a regular 70w where
the 0>7v can be challenged, the p2177 can be challenged as well.

SUMMARY
A 9171 requires o1p if it is challenged that it is f77.

72, P, The reason is because since the M1 could have made a 912112 without any difficulty, we
assume that he made it. There is a presumption XK 2°3X1 X717 2w &2, A person will not forgo
permitted food and eat forbidden food

% The reason can be understood from the previous footnote # 7; XO°R 29X X701 °aw X9, [Nevertheless
this 7"n maintains that if the 72 shows no 212179 at all, this erodes the 7P of 121 praw &7.] Alternately, a
arp is required for a 7> nww; the M? can claim that the X777 70w is 7> for it has to be written with his
consent. However how can he claim that the 7121179 is 79>17; the 121119 can be written without the consent
of the mM? (see IWn NPX).
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THINKING IT OVER

1. Why is there (even) a (slight) reluctance by mo0in to assume that a 917
requires 2p if challenged? Why should not the m? be believed to claim that
the P97 1s A™1NM?!

2. According to mo0n (that there is no need for a1p by a 9121170 since the M
cannot challenge it) why do the 2°»217 say that there is no need for 21°p since
it is a 72 Awyn?! Seemingly that is not the reason; rather it is what N501n
says because "1 mon:7 1aR1!
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